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1. SSD continued
2. Intro to fs
3. Files
4. Directories
--------------------------------------

          +-------------------+
  blocks  | block 0 | block 1 |
          +---------+---------+
  pages   | P1 | P2 | P3 | P4 |
          +----+----+----+----+
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* an example:
  --Given a flash bank has two blocks; each has two pages.
  --there are four writes to pages:
    wirte(logic_page_1)
    wirte(logic_page_10)
    wirte(logic_page_99)

  --what will happen:

          +-------------------+
  blocks  | block 0 | block 1 |
          +---------+---------+
  pages   | P1 | P2 | P3 | P4 |
          +----+----+----+----+
  data    |    |    |    |    |
          +----+----+----+----+

  mapping:
    LP1 =>      , LP10 =>     , LP99 => 

Question:
  what will happen if the following op is write(logic_page_1')?
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- design parameters:

 * small files (most files are small)
     vs.
   large files (much of the disk is allocated to large files)

 * access patterns:
     sequential access vs.
     random accesses vs. 
     keyed accesses

 * disk utilization (metadata overhead and fragmentation)

files
user a seq of bytes

QGFS a set disk blocks

file offset disk block
add r

Mem perprocess

VA IS PA
per file

asetE.no jErameLBA

How to find inode

pathfiename Is inode

Q designing file mapping



   +----+----+----+----+----+----+----+----+
   |    |    |    |    |    |    |    |    |
   |    |    |    |    |    |    |    |    |
   +----+----+----+----+----+----+----+----+

   +----+----+----+----+----+----+----+----+
   |    |    |    |    |    |    |    |    |
   |    |    |    |    |    |    |    |    |
   +----+----+----+----+----+----+----+----+

   +----+----+----+----+----+----+----+----+
   |    |    |    |    |    |    |    |    |
   |    |    |    |    |    |    |    |    |
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